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Questions...

p.252: #1-3
p. 259: #1-4

3. Meg is building a bookshelf to display her

 She |m nd §

ngveks for every oo

he cmkbook spines are about half an inch wide, and the novel
spines are about a quarter of an inch wide.

Meg wants to know how long to make the bookshelf.
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The tollowing mode represents this simarion.

Let ¢ represent the number of cookbooks.
Let n represent the number of novels.

Let Wrepresent the width of the bookshelf.
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number of books (both cookbooks and novels) that Meg

could have? Explain how you know.

a) Which point in the feasible region represents the gr:nrﬁt(—s‘

QQ. a0k 1n sdufien |

d b) Can she display the same number of cookbooks as novels? }'xpl:un s
<} What point represents the most cookbooks and the fewest novels? , 9 )

d) What point represents the number of cookbooks that 0 5
would require the longest shelf? How long would the shelf 6 0 ?\_oj (\7 7 ‘ /\

have to be?

e} What point represents the number of cookbooks that
require the shortest shelf? (‘ >w
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4. Ed found spiders and crickets in his storage room.

. -]-h.:r: wie m w j
There werl 43 or bewer crickets an ¥ total. spiders have
- _E_E_L-:J__ and crickets have G legs.
a) What Lﬂm]:unmﬂn of ﬁ]:l' ers and r_rlr_kﬂu worlld h:l.‘r tl'zub C)
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b) "-.'l'f hat r.c:rn]:unman would have tﬁ. least 6 ber att:
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ONE MORE... X

Malia and Lainey are baking cupcakes and banan

fundraiser...

. an o= be made each day.

« Malia and Lainey can make no more than 80 baked Qoods Ih total, each day.
C costs $0.50 to m}ke a cupcake and $0.75 to make % mini- I@

Determine the maximum cost to produce the baked goods. C= 0 {07( Y 0- 7{\4

a‘a;wini-loaves to sell at a school
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HOMEWORK: p. 259 #5, 7, 8, 11, 13
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